1. Fill in each gap with an appropriate word from the box.

damage focus on partnership reduce repair staff support
a) We cannot solve these problems all at once. Weneedto ... .. each of them separately.
b) Our department has aln) ... of seven engineers and a secretary.

c) We shouldn't use plastic because it causes serious environmental ... .

d) My parents didn't need to ..o me when | was at college because | received a scholarship.
e) The governor announced anew planto ... crime.

f) Dad was up the ladder, tryingto ... the roof.

g) The two companies have built upaclose ... ... over the past four years.

2. Circle the correct option to complete the sentences.
1. This passage is probably from ... .. :

a) a brochure b) a novel
r S — - people in total support WWF.
a) 6 million b) 6000

3. The phrase "needed to live” probably means ... .. ;

a) problems that have to be solved b) things you cannot live without

4. In 2016, WWF decidedto ... ;
a) hire more staff that are experts in their fields b) work in a different way than they did before

5. Businesses and governments ... ‘

a) are unwilling to work with WWF b) must work with WWF to conserve nature



